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a) S
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36. &t I 0WT? (What is a light pen?)
a) A Mechanical Input device

b) Optical input device

c) Electronic input device

d) Optical output device



37. BSNIPYNYY O3 FeoT ROFTT T3 (CPU) goneeN? Which
of the following is a part of the Central Processing Unit?

a) Printer

b) Key board

c) Mouse

d) Arithmetic & Logic unit

38. 0T Y- W) &enR FTORRMITL (Junk e-mail is also called)
a) Spam

b) Spoof

c¢) Sniffer script

d) Spool

39. O35 FREMDVONT LRRNTTY, ne SBT LR -NE QO
SINeEs0ReRNT? (Which programming languages are classified as low
level languages?)

a) BASIC, COBOL, Fortran

b) Prolog

c) C, C++ d. Assembly languages

d) Assembly languages

40. QoI 505%’&75& O30T TGN @ﬁ%&d? (Which device is required
for the Internet connection?)

a) Joystick



b) Modem
c) CD Drive
d) NIC Card

41. ASCII ©0%3 (ASCII stands for)

a) American Stable Code for International Interchange
b) American Standard Case for Institutional Interchange
c) American Standard Code for Information Interchange

d) American Standard Code for Interchange Information

42. e’ ST 0T O, TWIFALO POFIS® ¢ 03ywd? (Which is the
functional key to display save-as box?)

a) F5

b) F6

c) F9

d) F12

43, 33 ;’:)éeas W, (Touch Screen is,)
a) Input device

b) Output device

c) Both a & b above

d) None of these



44. Num Lock 8¢ @3 2’0?%)033 BRI WROT Numeric keynes), SN
0350w 3¢ ﬁ@ém&ﬁ LST LTI

a) Navigation Keys

b) Alphabetic Keys

c¢) Function Keys

d) None of the above

45, 3IHCOCH ©8 23T, TIT 0IYTD?
a) Terabyte

b) Kilobyte

c) Byte

d) Megabyte

46. J) Bege IYT! PDF file 0T, open [PBLO 3TLIeTT software?
a) NERO

b) Acrobat Reader

c) VCL

d) MX Player

47. JPEGS QT 8 CRDcvrssrren
a) Journey Photo Expert Group
b) Joint Photo Enlarge Group

c¢) Joint Photo Established Group

d) Joint Photographers Export’s Group



48. Android operating versions N¥=), FoCRRFVTN LERCRA.
1. Jelly Bean 2. Honey Comb 3. Nought 4. Beta

a) 1-2-3-4
b) 4-2-1-3
¢) 2-4-1-3
d) 3-1-2-4

49. Nosy ZRWITT FOLOHATOZ O30z 2R FOOTPNTI?
a) MS word- 500%

b) MS Power point-400%

c) Ms Excel- 400%

d) All of the above

50. E-Mail 30003 33 3$NS Cinms), S80I FIY?
a) PDF

b) .JPEG

c) Folder

d) File

51. 60%&3067? ROIORATOZ CC ) BCCRER), @F 50023007
a) Mail3Q
b) OS 3Q



c)aand b

d) None of the above
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a) A-1 B-1II C-IlI D-IV
b) A-l B-I C-1II D-IV
c) A-II B-1 C-IV D-III

d) A-I B-II C-1V D-III




53. 'BOTR/WT 0T @%w RRBD DR-6.0 I YT FeNTO O3F)R)? a)
kMpfyUqrf

b) KmpfyUqrf

c) kmpfyUqrf

d) S0edT 0IRFTH ©Y

54. DB 4.05Q TAKFMwI 20w 8:0° S0RTN A &0 0dmsyid?
a) WFOT®

b) DFOT®

c) aomgew

d) S0edT 0IRFTH ®Y

55. e mail TMRFRBONY WIE TRET BREERTIT® 03VYTN?
a) HTTP

b) FTP

¢) POP-3

d) SMTP

56. SNTPNTY CT0R)T QORBONT 5%@7%@_')&56 QDT IR0
a) GPS

b) IRNSS

¢) GLONASS

d) J10



57. BRODA LWICVA.

Te3-1 Te3-2
a. :D__ 1. OR Ret®
b. =] - 2. AND et

c. =) = 3 NOTHew
d. ) 4. NAND rees
— 5. NOR et

T0FBNG FTONHOT 3O mgdﬁ@m& 3023,

a) A-2 B-4 C-1 D-5 E-3
b) A-2 B-4 C-5 D-1 E-3

c) A-2 B-4 C-3 D-1 E-5
d) A-3 B-4 C-1 D-5 E-2

58. MS word 39 A4 ﬂéaf S TOPOD FOOTNRT 9P @3‘%‘?
a) 20 cm X 25 cm

b) 18.5 cm X 15.8 cm

c) 2l cm X 25 cm



d) 21 cm X 29.7 cm

59. MS word, MS power point, MS Exceln$gQ thesaurus 6303%0333 o3
DOIIY ATTT?

a) Insert

b) References

¢) Review

d) View

60. MS excelSQ F10 Q0T F143 R[T1 ©03ne) Sm00ba ©ne Oomw
WD, FOTRBODLY WFFWTWT AR, C3TRYT?

a) =LCM (F10:F14)

b) = (LCM F10:F14)

c) LCM= (F10:F14)

d) None of the above

61. BB BOGOIPADF 358 HRPI ST cIPFI( What is the binary

form of 35 which is a decimal number?)
a) 100011,
b) 100111,
c) 110011,

d) 111110,



62. Mac OS @&f.’)aje@p DRATOT 50%‘? (The company that developed Mac OS?)
a) NN (Google)

b) &I (Apple)

c) @éﬁ%ﬁ@ (Black Berry)

d) S0edT SR ©Y (None of the above)

CRROWCISRCISEEISI SOk oy g -1 I— oEs WEROONT. (First

generation computers USed.....nnn.. language)
a) XD (Machine)

b) ©X0y (Assembly)

c) a W) b 2TTEL (Both a and b)

d) & S5 (High level)

64. D3 BQ, TYOH FoeT[IY, OIRT 068 TRUTCRHIT (In Excel, an

active cell can be represented by)
a) 4A

b) A4



c) A4

d) SA%4

65. E-mail Q%93 OIF) e.91eortdZ? (What is included in an E-mail

address?)

a) WEFTOTT TROT 0BT BT A (Domain name followed by

user’s name)

b) BRIVES® TFOT I0BT WEFRTT FAHT (User’s name followed by

domain name)

C) WPFTOTT TR 03T @08 Lwox (User's name followed by postal

address)

d) 2)¢¥39030 TAT F083 TF W¥oF (User’s name followed by street

address)

Question Nos: 66-67 are based on Degrees of Comparison. (Positive,
Comparative and Superlative). Fill in the blanks with the most appropriate
word/words from the given set of alternatives and round them in your

answer sheet.



66. Krishnaraja Wodeyar was one of the ---———————————- Kings of

Mysuru.
a) Great
b) Greatest
c) Greater

d) Most Great

67. Sunil 1s—————————- than Suhas.

a) intelligent

b) more intelligent

c) Most intelligent

d) none of the above

Questions 68-73 have an expression each which can be replaced by a single
word. Choose the right word from among the alternatives and shade the

corresponding circle in your answer sheet.
68. Inscription on a gravestone

a) memorial

b) epitaph



c) epigraph

d) obituary

69. A place where government/ public records are kept
a) Shelf

b) Cellar

c) Museum

d) Archive

70. A man with abnormal habits
a) frantic
b) idiotic
c) sulky

d) eccentric

71. Customs and habits of a particular group
a) Rites

b) Rituals



c) Traditions

d) Mores

72. A picture of a person or a thing drawn in such a highly exaggerated

manner as to cause laughter.
a) Cartography

b) Caricature

c) Cacography

d) Cartoon

73. Lively or high-spirited
a) grave

b) vivacious

c) discouraged

d) depression

Direction: Read the passage and answer the questions that follow: Questions

74-T77. Your answers should be based on the passage only.

Passage:



It is well said that hard work is the key to success. Success visits those who
are diligent and industrious. If we skip work, we shall never prosper sand
shall never be happy. We shall lead a miserable life. In fact, we are the
architects of our own fate. It is hard work and continuous labour that matters.
Even if we are born with a silver spoon in the mouth, we must inculcate the

habit of hard work. So there is no way to fortune except through hard labour.

74. Industrious means:
a) Hard working

b) Lazy

c¢) Inactive

d) Unproductive

75. If we do not work hard, it will result in
a) Happy life

b) miserable life

c) easy life

d) blissful life

76. Born with a silver spoon in the mouth means



a) Born rich
b) spoon in mouth
¢) born poor

d) Upstart

77. Way to achieve fortune is through
a) Lucky dip

b) Lottery

¢) hard labour

d) Begging

Direction: In Questions 78-81, you have sentences divided into three parts.
One of the parts may contain an error. Identify the error by 1, 2 or 3 under

the parts of the sentence. If there is no error, mark (4), no error.

78. My grandmother (1) who live in a village (2) visits us once in a month

(3) no error (4)
a) l

b) 2



d) 4

79. Neither the manager (1) nor his colleagues (2) has apologized for their

lapses (3) no error (4)
a) l

b) 2

d) 4

80. A lot of documents (1) is reported (2) missing from the office (3) no

error (4)
a) l

b) 2

d) 4

81. A great deal (1) of work was (2) done by children (3) no error (4)

a) l



b) 2
c)3

d) 4

Direction: To answer questions 82-86, choose the word which is an antonym
or the most opposite in meaning to the word given and shade the option in

your answer sheet.

82. Embellish

a) Perish
b) Disarm
c) Adorn

d) Disfigure

83. Timid

a) Dashing
b) Outgoing
C) Bold

d) Chivalrous



84. Abolish

a) Abrogate

b) Annual

c) Setup

d) Establish

85. Abate

a) Moderate

b) decrease

c) aggravate

d) reduce

86. Adamant

a) Stubborn

b) inflexible

c) flexible



d) Soft

Directions: In each of the following questions, 87-90, out of the given
alternatives choose the one which best expresses the meaning of the given

word.

87. Eager

a) clever

b) enthusiastic

C) curious

d) devoted

&8. Placid

a) clear

b) calm

c) enjoyable

d) dull



89. Commemorate

a) boast

b) remember

¢) manipulate

d) harmonize

90. Astute

a) Shrewd

b) Dull

c) Impolite

d) Crude

Directions: The following questions 91-95 test your familiarity with

prepositions. Shade the correct option.

91. He followed the order —————————- a question.



a) During

b) For

¢) Without

d) To

92.They walked the river.

a) Along

b) next to

c) off

d) in the side of

93. his hard work, the marks he scored in the examination are

very low.

a) Notwithstanding

b) Considering



c) With regard to

d) In regard to

94. He wept his subordinates.

a) in spite of

b) in view of

c) by virtue, of

d) in front of

95.Tourists always enjoyed the setting Sun in the Darjeeling Hills.

a) in seeing

b) seeing

c¢) to watch

d) watching



Directions: For Questions 96-100, identify the correct phrasal verb and fill in

the blanks.

96. How are you —__ at the new school? Is it OK?

a) getting on

b) getting up

c) getting in

d) getting away

97. When do you — for the summer holidays?

a) break in

b) break up

c¢) break out

d) break

98. Just —________ this form and sign it.

a) fill in

b) fill up



c) fill up on

d) fill on

99. Gandhi will in history as one of the greatest men, that ever

lived.

a) go down

b) go through

c) go by

d) go on

100. The police are still —_ the thief.

a) looking into

b) looking for

c¢) looking through

d) Looking over



